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Условие:  

Пусть (𝑎, 𝑏) = 1. Доказать, что (𝑎 + 𝑏, 𝑎 − 𝑏) = 1 или 2. 

Решение: 

(𝑎, 𝑏) = 1. Докажем, что (𝑎 + 𝑏, 𝑎 − 𝑏) = 1 или 2. 

Пусть (𝑎 + 𝑏, 𝑎 − 𝑏) = 𝑑 ∈ ℕ ⇒ (∗)𝑎 + 𝑏 = 𝑥𝑑, 𝑎 − 𝑏 = 𝑦𝑑, где 𝑥, 𝑦 ∈ ℤ и (𝑥, 𝑦) = 1. Суммируем эти 

равенства, а еще и вычитаем: 

𝑎 + 𝑏 + (𝑎 − 𝑏) = (𝑥 + 𝑦)𝑑 ⇒ 2𝑎 = (𝑥 + 𝑦)𝑑

𝑎 + 𝑏 − (𝑎 − 𝑏) = (𝑥 − 𝑦)𝑑 ⇒ 2𝑏 = (𝑥 − 𝑦)𝑑
  (∗∗) 

Сперва из (∗)  если (𝑎, 𝑑) > 1 и (𝑎 + 𝑏) ⋮ 𝑑, ⇒ (𝑎 + 𝑏) ⋮ (𝑎, 𝑑), 𝑎 ⋮ (𝑎, 𝑑) ⇒ 𝑏 ⋮ (𝑎, 𝑑) ⇒ 𝑎, 𝑏 ⋮ (𝑎, 𝑑) > 1 ⇒
(𝑎, 𝑏) > 1 ⇒ противоречие ⇒ (𝑎, 𝑑) = 1 . Аналогично (𝑏, 𝑑) = 1.  Из (∗∗) ⇒ 2𝑎 ⋮, 𝑑, но (𝑎, 𝑑) = (𝑏, 𝑑) =

1 ⇒ 2 ⋮ 𝑑, 𝑑 ∈ ℕ ⇒ 𝑑 = 1 или 𝑑 = 2, но 𝑑 = (𝑎 + 𝑏, 𝑎 − 𝑏). Утверждение доказано. 
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